Ilozpy3uuxk KYH-2000-0 6e3 0sxcoiicmuxa

f 1 Puc.1

Koew 0,8m3



38

61,82,94

60,81,92




4

. PBIL=0,5m

PBJT L=0,4n

Or
// oo

Cxema noocoeouHeHus pyKkaeoe

PBJT L=3,3m

\- ‘
—-\" (o) A
(o]

el

‘ /PB}I L=3,3m

PBT L=0,6




KYH 2000.00.000 ITorpy3unk yHuBepcaJbHbIi

Ios3. O6o3HayeHue HaunmeHnoBanue Kou-Bo
1 KYH 2000.01.000M Pama mompema 1
2 KYH 2000.02.000 [Tanens HABECKU 1
3 KVYH 2000.02.000-01 ITanens HaBeCcKHU 1
4 KYH 2000.03.000 Croiika 2
5 KVYH 2000.04.000 Kponmreitn 2
6 KYH 2000.05.000 Tsara 2
7 KYH 2000.06.000M IlepexogHuk 1
8 KVYH 2000.07.000 Kponmreitn 2
9 KVYH 2000.08.000 Tsira pasrpysxaromas 1
10 KVYH 2000.08.000-01 Tsra pasrpysxaromas 1
11 KYH 2000.09.000 ITogHoxKa 2
12 KYH 2000.10.000 duxkcaTop 2
13 KYH 2000.11.000 ['mapormnuHp 2
14 KVH 2000.12.000 Muapormnuaap 2
15 KYH 2000.15.000 Koaur 0,8m° 1
16 KYH 2000.00.010 Ochb 4
17 KYH 2000.00.020 Ochb 10
18 KYH 2000.00.030 Ochb 4
19 KYH 2000.00.040 Ochb 4
21 KYH 2000.00.060 [Toxnepxka 2
22 KVYH 400.00.500 Crpenka 1
23 II6M 800.00.010 Bont crienuanbHbIi 4
24

25

27 KYH 01.710 Kinanan 3aMmennTeIbHBIR 1




30 KYH 15000.00.402 Orpaskienue 1
30A KYH 15000.00.402-01 Orpaxnaenue 1
31 KVYH 2000.00.403 Kponmreitn 2
32 KVYH 2000.00.404 Kponmrreitn [1TIM 4
33 KYH 2000.00.100 Kponmreiin 4
34 KVYH 2000.00.150 Kponmreitn 1
35 KVYH 2000.00.150-01 Kponmreiin 1
36
37 KYH 2000.00.412 Kponureiin 1
38 KYH 2000.00.412-01 Kponmreiin 1
39 KVYH 2000.00.009 Kpermika 22
40 KYH 2000.00.809 Brynka 2
41 KVYH 00.623b AT Npy>KUHHBIHA 2
42 KYH 400.00.401 Buka 1
44 I16M 800.00.403 Kponmreitn 2
45 KYH 2000.00.001 Tabnmmuka 1
60 Bont M8x30 'OCT 7798-70 4
61 bont M10x50 TOCT 7798-70 8
62 bont M12x45 TOCT 7798-70 4
63 OIIHI 00.030 Bboar M16x120 2 (nJy1s moI0Ha)
64 bont M16x50 'OCT 7798-70 18
65 Bont M16x70 TOCT 7798-70 20
66 bont M20x70 TOCT 7798-70 4
Boar M16x90 T'OCT 7798-70 2 (s yn. maHeJiei)
70 Bunt M10x20 TOCT 11738-84 20
71 Bunt M10x35 TOCT 11738-84 2
81 I"aiika M8 DIN985 4
82 ["atixa M10-6H.5.019 TOCT 5915-70 4
83 I"aiixa M 12 DIN985 4
84 I"aiixa M 16 DIN985 20




85 I"aiika M20 DIN985 4

92 [laii6a 8.01.019 T'OCT 11731-78 4

94 [laii6a 10.65I'.019 'OCT 6402-70 4

95 [aii6a 12.01.019 TOCT 11731-78 4

96 [laii6a 16.01.019 'OCT 11731-78 54

97 [aii6a 16.65I'.019 TOCT 6402-70 26

98 [Taii6a 20.01.019 T'OCT 11731-78 8

99 KYH 2000.100.012 Macnenka 1.2. 116 22

105 3akienka 3,2x8 DIN 2

106 bPC 02.000 M20x1,5 Mydra (mama) M20x1,5 4

106A BPC 01.000 M20x1,5 Mydra (mana) M20x1,5 4

107 I"aiika M20x1,5 'OCT 15522-70 4 (ans MyQT pa3pbIBH.)
109 PBJ1 10.01.050 Pyxas 4 L=0,6m
110 PB/110.01.020 PykaB 2 L=0,4m
111 PBJ110.01.030 Pyxas 2 L=0,5m
112 PBJ110.01.110 Pyxas 2 L=14m
113 PB/110.01.270 PykaB 2 L=19m
114 PB/110.01.330.01 PykaB 4 L=33m




KYH 2000.01.000M Pama

boam M8x35
Hlanuba 8.65I" g
KYH 2000.00.007 Onopa mpyéonpd,
KYH 2000.00.428 Ipusxcum |

KYH 2000.01.080

TpyGonpo6od VH 2000.01.010TM Pama

—=KYH 2000.01.080-01 Tpybonpoeoo

IITIB 1900.00.009 Kpstuuka

|
P 4
|

|

|

\. KYH 2000.01.070

KVH 2000.01.070-01 Ipyoonposoo
Tpyoonposoo




KYH 2000.01.000M Pama

0O6o03HauyeHue HaumenoBanue Koia-Bo
KYH 2000.01.010TM Pama 1
KYH 2000.01.070 Tpy6onposog, 2
KYH 2000.01.070-01 Tpy6onposog, 2
KYH 2000.01.080 Tpy6onposog, 2
KYH 2000.01.080-01 Tpy6onposog, 2
Mnrs 1900.00.009 Kpbiwka 2
KYH 2000.00.007 Onopa Tpybonposoaos 8
KYH 2000.00.428 Mpuxknm 4
Bont M8x35 NOCT 7798-70 4
LWaiiba 8.65I.019 IOCT6402-70 4
KYH 2000.00.160 TpPOMNHUK 4




KVYH 2000.00.801

KYH 2000.01.010MT Pama

KYH 2000.01.010MT Pama

KVYH 2000.00.803

O0o3Hauenue

HaumenoBanue Kou-Bo
KYH 2000.01.010M Pama 1
KYH 2000.00.801 BTynka 4
KYH 2000.00.803 BTynka 8
KYH 2000.00.804 BTynka 4

KVYH 2000.01.010M

Vl KYH 2000.00.804



KYH 2000.06.000M Ilepexognuk

KYH 2000.06.000M Ilepexoorux

Prruar ynpasinenus

O6o3HauyeHue HaunmenoBanue Koua-Bo
KYH 2000.06.010 MepexoaHUK 1
KYH 2000.06.050 KpoHwTenH 1
KYH 2000.06.070 TonkaTeno 1
KYH 2000.06.402 Yronok 1
KYH 2000.06.601 dukcatop 2
KYH 2000.06.421 Pbiyar 1
KYH 2000.06.422 MnaHka 1
KYH 2000.06.805 Btynka 3
KYH 2000.06.806 Btynka 1
KYH 2000.06.807 Mpy*XunHa 1
bont M8x20 FOCT 7798-70 2
bont M8x30 FOCT 7798-70 2
Bont M8x50 'OCT 7798-70 1




Bbont M10x25 rOCT 7798-70 4

laika M8. DIN 985

laika M10 DIN 985

LWar6a 8.01.019 N0OCT11371-78

Lari6a 8.65r. FTOCT 6402-70

KYH 2000.100.012

NIN(R|>W

MacneHnkKa

Puc.2
KYH 2000.06.010

Tatixa M10

KVH 2000.06.40 [
bomm M10x25

KYH 2000.06.601
bonm M8x20

~Ilaiiba 8.65I"

KYH2000.06.805
KVH 2000.06.807

KYH 2000.06.050

Bbonm M10x25
[ aiixa M10



IIpecc-macnenxa
KVH 2000.06.421

Bbonm M8x50

KVH 2000.06.806

Bcro octaabnyio coopky cm. B KYH-2000-0/1

[

KVH 2000.06.070

bonm M8x30

atixaM8

KVH 2000.06.422




